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Solving Inequalities

1. 7m+9<6(m+ 3) 2. 32x+4)=7x+8
LY HILZTRTE
Tm+4 % bm+I18 _.3‘\‘ -7y
-bm -bm
-XtlI22 8
m-\-‘l _L, ‘9 ,lz_ ..(2_
i —x=-4
M9 =R
Xe4
€ & & ®
< - t > < ' ) >
Check: o ? Check: © 4
TR L (W43 >
7949 £06(0+3) 3(2(o)+ll|3 ,;6)“
& | . -
A£18 Tue' Z:&‘a'u":\‘/ e Zm‘._?d/
3. 2(k+4) <3k - 4) 4. 5x+(73)> 23 +x)
A+G £ bie-12 EX-3 7L+2x
-bis b -2¥ -2
-4 +8 & -(2 39-3>L
-8 % +3 3
—%k £-20 2579
4 2 3
K25 *>3
o O >
< > < 5 3 >
Check: - Check: 4 S
Ao +4) £3(25) 4) S(o)-2 > 2(3+0) .
Q&-12 Zero wNoT v -;;.96 %"’,q,",h"w v
a Sohthin ¥ o

Talse



5.5¢+2<2c+(77)

6. 5x-20>2x+1
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